BIG BIKE PARTS' INSTALLATION INSTRUCTIONS

Qopyright@ 2006 by Big Bike Parts, ch. No panofthis ACCESSORY SOCKET / CIGARETTE LIGHTER FITS GL1800
permision o 81 Bke Pt . PART NO. 52-748 GOLDWING
PART NO. 52-768 UNIVERSAL

REVISED 10-23-06

UNIVERSAL INSTALLATION INSTRUCTIONS

TOOLS NEEDED: VARIES

INSTALLATION:

1. CUT WIRES TO REMOVE 3-PIN PLUG FROM THE WIRE HARNESS.

2. MOUNT SOCKET IN THE LOCATION PREFERRED. IT REQUIRES A 7/8” HOLE. UNSCREW BASE FROM HOUSING, INSERT HOUSING,
THREAD BASE ONTO HOUSING AND TIGHTEN.

3. CONNECT THE WIRE HARNESS TO THE BACK OF THE SOCKET. FEMALE SPADE CONNECTOR TO MALE SPADE CONNECTOR,
FEMALE BULLET CONNECTOR TO SCREW POST.

4. USING SPLICE CONNECTORS PROVIDED CONNECT RED WIRE TO POSITIVE AND BLACK WIRES TO GROUND.

GL1800 INSTALLATION INSTRUCTIONS
TOOLS NEEDED: SMALL FLATHEAD SCREWDRIVER, 7/8” DRILL BIT
INSTALLATION:

NOTE: THE 5 AMP ACCESSORY FUSE WILL NEED TO BE INCREASED TO A 10 AMP FUSE TO ALLOW FOR THE LOAD CHANGE.

1. REMOVE LEFT FAIRING TRIM ACCENT BY SQUEEZING THE SIDES AND PULLING UPWARDS CAREFULLY.

2.  OPEN LEFT POCKET AND REMOVE BY PRESSING DOWN THE CENTER OF THE FOUR LOCK PINS IN EACH CORNER WITH A SMALL
FLATHEAD SCREWDRIVER, THEN PULL UPWARDS TO PULL OUT POCKET.

3.  WITH THE POCKET REMOVED DRILL A 7/8” HOLE IN THE RIGHT SIDE DIAGONAL PANEL FOR ‘ 06 MODELS. FOR'01-'05 MODELS DRILL
THE HOLE ON THE REAR WALL OF THE POCKET. THERE IS A MARK THAT LOOKS LIKE A CROSSHAIR ON THE BACKSIDE OF THE
POCKET, THIS IS WHERE TO DRILL.

4. UNSCREW THE BACK OF THE SOCKET AND INSERT THE FRONT OF THE SOCKET THROUGH THE HOLE IN THE POCKET AND THEN
SCREW THE BACK OF THE SOCKET ON TILL THE SOCKET IS TIGHT AGAINST THE POCKET.

5.  CONNECT THE WIRE HARNESS TO THE BACK OF THE SOCKET. FEMALE SPADE CONNECTOR TO MALE SPADE CONNECTOR,
FEMALE BULLET CONNECTOR TO SCREW POST.

6. LOCATE THE RED MALE THREE-PIN PLUG UNDERNEATH THE POCKET YOU REMOVED AND PLUG THE OTHER END OF THE SOCKET
WIRE HARNESS INTO IT.

7. SET THE POCKET BACK INTO PLACE AND REFASTEN BY PUSHING THE FOUR LOCK PINS BACK INTO THE FOUR CORNERS.

8. PUT THE FAIRING TRIM BACK ON, STARTING AT THE TOP AND WORKING DOWN PRESSING IT BACK INTO PLACE.

NOTE: CRIMP CONNECTORS NOT NEEDED.

BIG BIKE PARTS' INSTALLATION INSTRUCTIONS

_Copyright@ 2006 by Big Bike Parts, ch. No part o_fthis ACCESSORY SOCKET / CIGARETTE LIGHTER FITS GL1800
permission of 81 Bke P . PART NO. 52-748 GOLDWING
PART NO. 52-768 UNIVERSAL

REVISED 10-23-06

UNIVERSAL INSTALLATION INSTRUCTIONS

TOOLS NEEDED: VARIES

INSTALLATION:

1. CUT WIRES TO REMOVE 3-PIN PLUG FROM THE WIRE HARNESS.

2. MOUNT SOCKET IN THE LOCATION PREFERRED. IT REQUIRES A 7/8” HOLE. UNSCREW BASE FROM HOUSING, INSERT HOUSING,
THREAD BASE ONTO HOUSING AND TIGHTEN.

3. CONNECT THE WIRE HARNESS TO THE BACK OF THE SOCKET. FEMALE SPADE CONNECTOR TO MALE SPADE CONNECTOR,
FEMALE BULLET CONNECTOR TO SCREW POST.

4. USING SPLICE CONNECTORS PROVIDED CONNECT RED WIRE TO POSITIVE AND BLACK WIRES TO GROUND.

GL1800 INSTALLATION INSTRUCTIONS
TOOLS NEEDED: SMALL FLATHEAD SCREWDRIVER, 7/8” DRILL BIT
INSTALLATION:

NOTE: THE 5 AMP ACCESSORY FUSE WILL NEED TO BE INCREASED TO A 10 AMP FUSE TO ALLOW FOR THE LOAD CHANGE.

1. REMOVE LEFT FAIRING TRIM ACCENT BY SQUEEZING THE SIDES AND PULLING UPWARDS CAREFULLY.

2. OPEN LEFT POCKET AND REMOVE BY PRESSING DOWN THE CENTER OF THE FOUR LOCK PINS IN EACH CORNER WITH A SMALL
FLATHEAD SCREWDRIVER, THEN PULL UPWARDS TO PULL OUT POCKET.

3.  WITH THE POCKET REMOVED DRILL A 7/8” HOLE IN THE RIGHT SIDE DIAGONAL PANEL FOR ‘* 06 MODELS. FOR '01-'05 MODELS DRILL
THE HOLE ON THE REAR WALL OF THE POCKET. THERE IS A MARK THAT LOOKS LIKE A CROSSHAIR ON THE BACKSIDE OF THE
POCKET, THIS IS WHERE TO DRILL.

4. UNSCREW THE BACK OF THE SOCKET AND INSERT THE FRONT OF THE SOCKET THROUGH THE HOLE IN THE POCKET AND THEN
SCREW THE BACK OF THE SOCKET ON TILL THE SOCKET IS TIGHT AGAINST THE POCKET.

5. CONNECT THE WIRE HARNESS TO THE BACK OF THE SOCKET. FEMALE SPADE CONNECTOR TO MALE SPADE CONNECTOR,
FEMALE BULLET CONNECTOR TO SCREW POST.

6. LOCATE THE RED MALE THREE-PIN PLUG UNDERNEATH THE POCKET YOU REMOVED AND PLUG THE OTHER END OF THE SOCKET
WIRE HARNESS INTO IT.

7. SET THE POCKET BACK INTO PLACE AND REFASTEN BY PUSHING THE FOUR LOCK PINS BACK INTO THE FOUR CORNERS.

8. PUT THE FAIRING TRIM BACK ON, STARTING AT THE TOP AND WORKING DOWN PRESSING IT BACK INTO PLACE.

NOTE: CRIMP CONNECTORS NOT NEEDED.




